MAT 3749 2.1 Part 3 Handout

 Squeeze Theorem
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 Example 1 
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Note: 
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By the Squeeze Theorem, 
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 One-sided Limits
We say that 
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if  f  is defined on some open interval 
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 Consistency
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 Limits at Infinities
We say that 
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 Example 2 

Use the 
[image: image30.wmf]ed

-

 definition to prove that 
[image: image31.wmf]2

1

lim11

x

x

®¥

æö

-=

ç÷

èø

.

	Analysis



	Proof




 Infinite Limits
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	The left-hand limit does not exist.
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 Definition

We say that 
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if  f  is defined on an interval 
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 Example 3 

Use the 
[image: image44.wmf]ed

-

 definition to prove that 
[image: image45.wmf]2

0

1

lim

x

x

-

®

=¥

.

	Analysis



	Proof




Last Edit: 10/30/2011 6:11 PM
PAGE  
2

_1345297997.unknown

_1345298042.unknown

_1349598048.unknown

_1349598071.unknown

_1381503613.unknown

_1380723592.unknown

_1349598057.unknown

_1345298579.unknown

_1345298058.unknown

_1345298013.unknown

_1345294381.unknown

_1345294565.unknown

_1345297556.unknown

_1345297613.unknown

_1345297658.unknown

_1345297667.unknown

_1345297690.unknown

_1345297626.unknown

_1345297577.unknown

_1345295188.unknown

_1345297548.unknown

_1345294583.unknown

_1345294548.unknown

_1345294555.unknown

_1345294400.unknown

_1345284092.unknown

_1345294038.unknown

_1345294051.unknown

_1345294196.unknown

_1345284134.unknown

_1345293908.unknown

_1345284055.unknown

_1316011615.unknown

_1316270055.unknown

_1344853992.unknown

_1316011614.unknown

